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QUESTION 1

Which of the following record modes delivered by a DataSource can you directly upload to an InfoCube? There are 3
correct answers.

A. Reverse Image

B. Before Image and After Image
C. Delete Image

D. Additive Image

E. After Image

Correct Answer: ABD

QUESTION 2

You are not able to transport newly created queries from your development SAP BW system to production. Which of the
following could be a possible problem. There are 2 correct answers.

A. The queries have not been written against a MultiProvider.

B. The queries not have an active version.

C. The queries are contained in the incorrect InfoArea.

D. The queries have not been assigned to a BEx transport request.

Correct Answer: BD

QUESTION 3

The Marines order 8 service members for deployment on Monday. This data is loaded to a Standard DSO. Then the
office requests 2 less service members, for a total of 6. This new after image data is also loaded to the DSO. What
records will be in the Change Log? Select the correct answer.

A.8,-8,6

B.8,-8,2

C.8,6

D.8,2

E.8,6,2

Correct Answer: A
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QUESTION 4

What are the differences between the Reporting and Operational Data Store (ODS) layers in LSA if both are reportable?

)

A. They can use different InfoProvider types

B. The ODS layer is typically used for archiving
C. They differ in data refresh requirements

D. They differ in the granularity of data

E. They can use different InfoProvider types

Correct Answer: D

QUESTION 5

You want postable nodes in a hierarchy to appear in multiple hierarchy branches. What action could you take to
accomplish this? (2)

A. Enter the postable nodes as Link Nodes

B. Configure the hierarchy as time-dependent

C. Create multiple similar hierarchies

D. Configure the hierarchy with a time-dependent structure

Correct Answer: D
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